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Bridge

A Play Fit for a Monarch

There are hands where one defender
is in a much better position than his part-
ner to see the best chance of defeating
the contract. In these cases, the player
with the better perspective should take
over, if possible, and direct the defense
for his side.

For example, take this deal where
West led the queen of clubs against four
spades. East signaled with the seven and
won the next club with the king. But
when East then tried to cash his ace,
South ruffed, drew trumps and con-
ceded the ace of diamonds to make the
contract.

East was entirely at fault for allowing
declarer to make four spades. He merely
went through the motions of defending,
basing his hopes entirely on the possi-
bility that South had three clubs instead
of two.

A much better plan would have been
to make use of the knowledge that
West’s queen-of-clubs lead indicated he
also had the jack. With that in mind, East
should have overtaken the queen with
the king, cashed the ace of diamonds
and then returned a low This sequence
of plays by East would have clearly
marked the ace of diamonds as a single-
ton, and would have made it easy for
West to return a diamond at trick four to
defeat the contract.

It is true that many players holding the
East hand would mechanically play the
seven of clubs at trick one, giving no
thought whatever to the primary objec-
tive of every good defender: to defeat
the contract. Over the long haul, such
players would almost surely find them-
selves on the short end of the score.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts


